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I. Choose the best answer: .
1. If n(AxB) = 6 and A = {1, 3} then n(B) is "
a) 1 b) 2 c) 3 d) 6
2. 1f f(x) = 2x2 and g(x) = 1/3x then fo_g is : :
a) 3/2x2 b) 2/3x? c) 2/9x? d) 1/6x
3. Using Euclid’s division lemma, if the cube of any positive integer Is divided by 9
then the possible remainders are
a)o, 1,8 b)1,4,8 c)0,1,3 d)1,3,5
4. The HCF of two equal possitive integerss k, k is
a) 1 b) k c)0 d) k2
5. A system of three linear equation in three variables is inconsistent if their plan:s...
a) intersect only at a point b) intersect in a line {
c) toincides with each other - d) do not intersect
6. The GCD of x2 - y2, X3 - y3, ...... x" - y" where neN, is
a)x-y b) x +y 1 oy xR d)1
II. Answer any 7 of the following. Question Number 16 is compulsory: 7x2= 14
7. IfA={1,3,5and B = {2, 3} theni) find A x B ii) B x A.
8. Given f(x) = 2x2 - x find i) f(2) ii) f(x) + f(2)
9. A={1,2,3 4} and B = N. Letf : A — B be defined by f(x) = x> then
i) find the range of f ii) Identify the type of function.
10. If f(x) = x™ and g(x) = x" does fg=gof? .
_11. Find the greatest number that will divide 445 and 572 leaving remainders 4 and 5
respectively.
12. For what values of natural number n, 4" can end with the digit 6?
13. Solve 8x= 1 (mod 11)
14. Today is Tuesday. My uncle will come after 45 days. In which day my uncle will be
coming? : g '
15. Solve : 2x -3y =6 ;x+y=1
16. a) Find the LCM of the following lsrn, -12m2n?, 8n? (OR)
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b) Describe : “Horizontal line Test”
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IIL. Answer any 4 of the following. (QUéStion number 22 is compulsory):

17.

18.
19.
20.
245
22.

IV.
23,

24,

4x5=20
LetA={xeN/1<x<4};B={xeW/0sx<2}andC={xeN/x< 3} then
verify that A x (BUC) = (AxB) u (AXC): \ ¢

If f(x) = x2, g(x) = 2x and h(x) = x + 4 Ehen Show that be (fog)oh = fo(goh).
Find the remainder when 28! is divided by 17.

Find the G.C.D. of the following x* - 1= LIX% 4+ x - 17,

'Find the LCM of the Bolynomial a2 + 4a - 12, a% - 5a + 6 whose GCD is a - 2.

a) A={0,1,2,3)andB={1, 3,5, 7, 9y betwo sets f : A -, B be a function given
by f(x) = 2x + 1. Represent this function i) a table ii) ordered pairs iii) a graph
iv) an arrow diagram (OR)

b) Solve the following system of linear equations in three variables:
1/x-2/y+4=0, 1/y-1/z+1=0,2/2 +3/x = 14

Answer the following: | S0 . 2x5=10

a) Construct a triangle similar to a given triangle PQR with its sides equal to 3/5 of
the corresponding sides of the triangle PQR (scale factor 3/5 < 1). , (OR)

b) Construct a triangle similar to given triangle ABC with its sides equal to 6/5 of
the coresponding sides of the triangle ABC (scale factor 6/5).

Gfaph the following quadratic equations and state their nature of solutions.

a)x?+x+7=0 (OR) b)x?-8x+16=0
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